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If you see this post, it means that we have problems downloading external resources on our website. If you are behind a web filter, make sure that domains *.kastatic.org *.kasandbox.org are blocked. Questions and worked solutions for AP Calculus AB 2017. Related Topics: More videos, activities, and
spreadsheets that fit Calculus AP Calculus AB 2017 Free Response Questions - Complete Paper (pdf) AP Calculus AB 2017 Free Response Question 1 1. The height of the tank is 3 meters. The area of the horizontal cross-section of the container at height h the feet are given by function A, where A(h) is
measured in the square divisions. Function A is continuous and decreases as h increases. The selected values A(h) are given in the table above. (a) Use the left Riemann sum with the three sub-data indicated in the table data as approximately the volume of the container. Set up units of measure. (b) Is
the approximation of point (a) overestimated or underestimated by the volume of the container? Explain your reasoning. (c) The area of the horizontal cross-section in square feet at height (h) the feet shall be modelled using function f given in accordance with this model, where the volume of the container
has been determined. Set up units of measure. (d) Water is pumped into the tank. When the water level is 1.5 meters, the height increases at a rate of 0.26 feet per minute. Use the model from the c-section to find how quickly the volume of water changes relative to the time when the water level is 1.5
meters. Set up units of measure. Show step-by-step solutions AP Calculus AB 2017 Free answer Question 2a) How many pounds of bananas are removed from the display table in the first 2 hours when the store is open? b) Find f'(7) . If you are using the correct units, explain the f'(7) devices in the event
of an issue. (c) Will the number of bananas on the display table increase or decrease to 5? Give me a reason for your answer. d) How many kilos of bananas are on the display table while t = 8? Show step-by-step solutions AP Calculus AB 2017 Free answer question 3 3. Function f is different over a
closed time interval [-6.5] and meets f(-2) = 7. F's derivative f consists of 6 segments and three line segments, as shown in the figure above. a) Find f(—6) and f(5). (b) What intervals will they be longer? Justify your answer. c) Find the absolute minimum value f over a closed period [-6,5]. Justify your
answer. (d) For each of points (f)(5) and (f)(3), find a value or explain why it does not exist. Show step-by-step solutions AP Calculus AB 2017 Free answer question 4 View step-by-step solutions AP Calculus AB 2017 Free answer question 5 5. Two particles are moving along the x-axis. If <t < 80, the
position of particulate P while xP(s) = In(t2 - 2t + 10), while the particle speed at the same time t is given vQ =t2 - 8t + 15. Particle Q is in x =5 at the same time t = 0. a) When = 0 = for t 8, when does particle P move to the left? (b) in accordance = point 8 = 0,000 t, all times t during which the two particles
travel in the same direction shall be found. c) Find the acceleration of particulate Q while t = 2. Will the rate of particulate Q increase, or neither will it increase while t = 2 ? Explain your reasoning. d) Find the location of particulate Q when it first changes direction. Show step-by-step solutions AP Calculus
AB 2017 Free answer question 6 6. F is the function defined by f(x) = cos(2x) + pren x. Let g be a different function. The table above shows the values of g and its derivative value g in the selected x values. H is a function whose diagram of five line segments is shown in the figure above. a) Find the line
slope that is tangent to the f descriptor x = 1. b) Let k be k(x)= h(f(x)) specified function. Find k'(1t). c) Leave m to m(x)= g(-2x) * h(x) specified function. Find m'(2). (d) Is the chapter c [-5, -3] in closed time such that g'c) = -4 ? Justify your answer. Show step-by-step solutions Try the free Mathway
calculator and problem solver below to practice a variety of math topics. Try the given examples or type your own problem and check your answers with step-by-step explanations. We receive feedback, comments and questions about this site or page. Send your feedback or enquiries via our feedback
page. If you see this post, it means that we have problems downloading external resources on our website. If you are behind a web filter, make sure that domains *.kastatic.org *.kasandbox.org are blocked. Questions and worked solutions for AP Calculus AB 2017. Related Topics: More videos, activities,
and spreadsheets that fit Calculus AP Calculus AB 2017 Free Response Questions - Complete Paper (pdf) AP Calculus AB 2017 Free Response Question 1 1. The height of the tank is 3 meters. The area of the horizontal cross-section of the container at height h the feet are given by function A, where
A(h) is measured in the square divisions. Function A is continuous and decreases as h increases. The selected values A(h) are given in the table above. (a) Use the left Riemann sum with the three sub-data indicated in the table data as approximately the volume of the container. Set up units of measure.
(b) Is the approximation of point (a) overestimated or underestimated by the volume of the container? Explain your reasoning. (c) The area of the horizontal cross-section in square feet at height (h) the feet shall be modelled using function f given in accordance with this model, where the volume of the
container has been determined. Set up units of measure. (d) Water is pumped into the tank. When the water level is 1.5 meters, the height increases at a rate of 0.26 feet per minute. Use a template from a section find the rate at which the water volume changes relative to the time when the water level is
1.5 meters. Set up units of measure. Show step-by-step solutions AP Calculus AB 2017 Free answer Question 2a) How many pounds of bananas are removed from the display table in the first 2 hours when the store is open? b) Find f'(7) . If you are using the correct units, explain the f'(7) devices in the
event of an issue. (c) Will the number of bananas on the display table increase or decrease to 5? Give me a reason for your answer. d) How many kilos of bananas are on the display table while t = 8? Show step-by-step solutions AP Calculus AB 2017 Free answer question 3 3. Function f is different over
a closed time interval [-6.5] and meets f(-2) = 7. F's derivative f consists of 6 segments and three line segments, as shown in the figure above. a) Find f(—6) and f(5). (b) What intervals will they be longer? Justify your answer. c) Find the absolute minimum value f over a closed period [-6,5]. Justify your
answer. (d) For each of points (f)(5) and (f)(3), find a value or explain why it does not exist. Show step-by-step solutions AP Calculus AB 2017 Free answer question 4 View step-by-step solutions AP Calculus AB 2017 Free answer question 5 5. Two particles are moving along the x-axis. If <t < 80, the
position of particulate P while t is xP(t) = In(t2 - 2t + 10 ), while the speed of particulate Q is vQ =t2 - 8t + 15. Particle Q is in x = 5 at the same time t = 0. a) When > 0 > for t 8, when does particle P move to the left? (b) in accordance > point 8 = 0,000 t, all times t during which the two particles travel in the
same direction shall be found. c) Find the acceleration of particulate Q while t = 2. Will the rate of particulate Q increase, or neither will it increase while t = 2 ? Explain your reasoning. d) Find the location of particulate Q when it first changes direction. Show step-by-step solutions AP Calculus AB 2017
Free answer question 6 6. F is the function defined by f(x) = cos(2x) + pren x. Let g be a different function. The table above shows the values of g and its derivative value g in the selected x values. H is a function whose diagram of five line segments is shown in the figure above. a) Find the line slope that
is tangent to the f descriptor x = 11. b) Let k be k(x)= h(f(x)) specified function. Find k'(11). ¢) Leave m to m(x)= g(-2x) ¢ h(x) specified function. Find m'(2). (d) Is the chapter c [-5, -3] in closed time such that g'c) = -4 ? Justify your answer. Show step-by-step solutions Try the free Mathway calculator and
problem solver below to practice a variety of math topics. Try the given examples or type your own problem and check your answers with step-by-step explanations. We welcome you. Comments and questions about the site or page. Send your feedback or enquiries via our feedback page. Questions and
worked solutions for AP Calculus AB 2017. Related Topics: More videos, activities, and spreadsheets that fit Calculus AP Calculus AB 2017 Free Response Questions - Complete Paper (pdf) AP Calculus AB 2017 Free Response Question 1 1. The height of the tank is 3 meters. The area of the horizontal
cross-section of the container at height h the feet are given by function A, where A(h) is measured in the square divisions. Function A is continuous and decreases as h increases. The selected values A(h) are given in the table above. (a) Use the left Riemann sum with the three sub-data indicated in the
table data as approximately the volume of the container. Set up units of measure. (b) Is the approximation of point (a) overestimated or underestimated by the volume of the container? Explain your reasoning. (c) The area of the horizontal cross-section in square feet at height (h) the feet shall be modelled
using function f given in accordance with this model, where the volume of the container has been determined. Set up units of measure. (d) Water is pumped into the tank. When the water level is 1.5 meters, the height increases at a rate of 0.26 feet per minute. Use the model from the c-section to find how
quickly the volume of water changes relative to the time when the water level is 1.5 meters. Set up units of measure. Show step-by-step solutions AP Calculus AB 2017 Free answer Question 2a) How many pounds of bananas are removed from the display table in the first 2 hours when the store is open?
b) Find f'(7) . If you are using the correct units, explain the f'(7) devices in the event of an issue. (c) Will the number of bananas on the display table increase or decrease to 5? Give me a reason for your answer. d) How many kilos of bananas are on the display table while t = 8? Show step-by-step
solutions AP Calculus AB 2017 Free answer question 3 3. Function f is different over a closed time interval [-6.5] and meets f(-2) = 7. F's derivative f consists of 6 segments and three line segments, as shown in the figure above. a) Find f(—6) and f(5). (b) What intervals will they be longer? Justify your
answer. c¢) Find the absolute minimum value f over a closed period [-6,5]. Justify your answer. (d) For each of points (f)(5) and (f)(3), find a value or explain why it does not exist. Show step-by-step solutions AP Calculus AB 2017 Free answer question 4 View step-by-step solutions AP Calculus AB 2017
Free answer question 5 5. Two particles are moving along the x-axis. If <t < 80, the position of particulate P while t is xP(t) = In(t2 - 2t + 10 ), while the speed of particulate Q is vQ =12 - 8t + 15. Particle Q is in x = 5 at the same time t = 0. (a) 0 > t 8, when does Particle P move to the left? (b) in accordance
> point 8 = 0,000 t, all times t during which the two particles travel in the same direction shall be found. c) Find the acceleration of particulate Q while t = 2. Will the rate of particulate Q increase, or neither will it increase while t = 2 ? Explain your reasoning. d) Find the location of particulate Q when it first
changes direction. Show step-by-step solutions AP Calculus AB 2017 Free answer question 6 6. F is the function defined by f(x) = cos(2x) + pren x. Let g be a different function. The table above shows the values of g and its derivative value g in the selected x values. H is a function whose diagram of five
line segments is shown in the figure above. a) Find the line slope that is tangent to the f descriptor x = 1. b) Let k be k(x)= h(f(x)) specified function. Find k'(11). ¢) Leave m to m(x)= g(-2x) ¢ h(x) specified function. Find m'(2). (d) Is the chapter c [-5, -3] in closed time such that g'c) = —4 ? Justify your answer.
Show step-by-step solutions Try the free Mathway calculator and problem solver below to practice a variety of math topics. Try the given examples or type your own problem and check your answers with step-by-step explanations. We receive feedback, comments and questions about this site or page.
Send your feedback or enquiries via our feedback page. Page.
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